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SECTION -1
ue -1
CHILD DEVELOPMENT AND PEDAGOGY
CIGREEIRRCAN NIt
There are 30 questions in all in this section.
All questions are compulsory.
@IS U HA 30 TH B |
et g rfar |

Which of the following statement or statements is/are false ?

(a) It is not necessary to understand that each child is unique.

(b) The child develops as unified whole.

(c) Any problem in one aspect of development is likely to affectthé others.
(d) Development is a sequential process.

(A) (a), (b)and (c) (B) (b)and (c)
(C) (c)and (d) (D) Only (2)
FrferRad § & & 91 91 HF & HUF EA /8 ?

(a) & FHGHT Sl T @ foh Seeish st JAfgiar 2 |
(b) ST TS Thishd U % ¥ § forhfard BT 2 |
(c) TorepT o Ueh Uge] H forell woe shi QHl o1 THTIIaNsh{- ehl SrITaHT BI 2 |
(d) Torpra T STTshiTe UfRaT B |
(A) (a), (b) 3R () (B) (5)3(e)
(©) (¢) 3 (d) (D) (e ()
occurs when there are orderly andéprogressive changes in a human being due to
maturation and experience.
(A) Growth (B)wDevelopment
(C) Physical changes (D) Mental changes
qS BT AT Bl B, SR 3R 9 % HRO AT H sheg 3T gifasfiet
IfEdH 81 7 |

(A) dfg (B) TorsbrH

(C) i agera (D) | qierd

Which of the following is not a characteristic of early childhood ? ]
(A) Pre-Gang age (B) Imitative age Mﬁ
(C) Questioning age (D) Toy age =
frferfaa o & e &t s 6 frdwar 72 8 2

(A) TE-2rcht 31 (B) 3T 31y

(C) T hThahi 311 (D) et 3y

The Nature and Nurture debates refer to

(A) _(Genetic and Environment (B) Behaviour and Environment
(C) “Environment and Biology (D) Environment and Upbringing
Fehid T o foarg frefoifaa o @ frae afa g ¢

(A). STHARTER TF rarere (B) G & ATATeRUl

(C) dTaTayT U Safeas (D) STATSIT T YTet= a0

P.T.O.
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1.Q. of a talented child is

(A) 130 (B) 140
(C) 55 (D) 120
gfuTeTTeht STeTeh i gfg ey Bt &

(A) 130 (B) 140
(C) 55 (D) 120

Schools should cater for individual differences to

(A) Make individual students feel exclusive.

(B) Narrow the gap between individual students.

(C) Not to assess the abilities and performance of students.
(D) Understand why students are able or unable to learn.

TR ol AT (AT 1 LI TG AT FiTeh N
(A) T BT 1 Ffire HeEw HEm 3 | s
(B) BT o &< o 3T ! HH i 2 |

(C) BT Td SEN3! shi amaTati R Te9 o1 T8 S ety |

(D) THZA % foru fop o diws  wnef a1 semed #=1i §L @ Bl

A child of 16 years age, scores 75 in 1.Q. test.4His mental age will be years.

(A) 8 (B) 44

(C) 15 (D) T2

16 99 3T 1 =1 gfeg A Tt § 75 375 TTCnshidl 8, ITh! THIHH 31 EL]
Bl |

(A) 8 (B) “14

(C) 15 (D) 12

Each person’s work is a reflection,of certain abilities, in performing any particular task, a
person selects some of his mental abilities as a model. This principle was given by

(A) Thorndike (B) Thurstone

(C) Gilford (D) Thomson

T SAfe T 1 g, Farat 1 gfafers giar &, foreht fomiv vt 1 6t | safdq st
T TR ¥ 8% i 9idest o €9 H ™ L od 7 | I8 fagea fhee feam 2

(A) 9HETsH (B) e

(C) firere (D) UTHE

Whicheef the following is projective technique of personality measurement ?
(A) o Ratingscale (B) Observation

(C) Interview (D) Thematic appreciation test
=8 @ = o =afade a6 v fafa g 2

(A) e AT (B) 3Taciied

(C) w&TcehR (D) AT TIIAU T
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10.

11.

12.

13.

)
Creativity is usually associated with
(A) Hyperactivity (B) Low comprehension
(C) Convergent thinking (D) Divergent thinking
GoHTHehT J&d: fored grafrd 8 7
(A)  Ffcrafsraa (B) ohH STERTEIT
(C) IR fom (D) 39ER fa=
Which of the following condition promotes adjustment ?
(A) Acute anxiety (B) Obsessive thought of guilt
(C) Fear of illness (D) Free from neurotic fears and anxicty
fr=ferfaa o & = =t ferfa Tamem o sgEr dt 2 2
(A) e fa=m (B) 3T9UY &9 % SR H ol 91
(C) <mm =1 e (D) Taftrea w3k fiar @ g
Signs of gifted child are :
(1) Novelty in expression OF 0]
(i) Curiosity Eﬁ
(ii1) Talkativeness
(iv) Hyper-activeness
(A) (i) and (iv) (B) 1) and (ii)
(C) (ii) and (iv) (D) " (iii) and(iv)
ferraTTedt STeteh % oeqo = E ?
() ifreafeq o Terarn
(i) =
(iii) saterma TSR
(iv) rfcrafsraan
(A) () 3 (i) B) (i) 3 (i)
(C) (i) 3 (iv) (D) (iii) 3 (iv)
Who gave the formula of Q. written below ?
Intelligence Quotient = Chrlc\)/ileolﬁ)agliiif age x 100
(A) William Stern (B) Terman
(C) Binet (D) Galton
gfg @fets o foqu f=ferfaa wrjen fera feam 2
AHTES 31
AfeRg, = x 1
s HIATISHIH® 1Y 00
(A) Taferm & (B) <A
©) fw (D) e

P.T.O.
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Ravi’s intelligence test indicates that he is in category average to above-average of
intelligence. However, his grades in reading, spelling, social sciences and science are very
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has
(A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder)

(C) Dyslexia (Reading Disorder) (D) Dysphasia (Language Disorder)

T 1 gfig wiegor sfird shtar & fob o 3ftea & oo, 3ied 3 31fies gfgaan 6t St § Garg, |
BT Ue, a1, TN fasi 3R fosi | 39 US §gd U & | 38h TIUTq. b TSIl
3t 8 | T o v | 31t 8 | W W Sife arvme 7

(A) TeTehegpiern (i & wesiterd faenfa)

(B) femmithan (vraw @ wwaifya faspfa)

(C) Teucifaaan (Te+ & wwityd faefd)

(D) feawisE (Se & Fwlea faspha)

“Learning is a process of progressive behaviour adaptations> This statement was given by
which educationist ?

(A) Skinner (B) Woodworth

(C) Crow and Crow (D) . Gates and others

TG SHEER T SRR TTHR <hl Ueh UTshaT 2 | Agshaifehdl renfee o gra fear mn 2
(A) ferm (B) gz o0

(C) oI TH 3hI (D) TEH T 3= St

Srishti is the student of class two. She was taught basic mathematics by the teacher. Next
day while shopping she pointed out the mistake in total done by shopkeeper. Which type of
learning is this ?

(A) Negative transfer (B) Positive transfer

(C) Bilateral transfer (D) Zero transfer

HET — 2 ! BTGB I FAUh] = g TG For o T HER, A TG I8 TR
T TG % STUGHITGR GRT <l TR AT 3h1 T i Tafed Hich el Haml | I8 i
1 B T THRE ?

(A)  TehITCHD ST (B) HehRIcHeh AT
(C) TouefreymT=awe (D) I TR

Two opposite desires present in an individual at the same time is called
(A) . Conflict (B) Frustration

(C) Anxiety (D) Pressure

e sufer o s 9ug W g1 foufia ses13ti 1 g1 e §

(A) 5% (B) Fal

(C) e (D) <& &
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18.

19.

20.

Y
Which of the following theory is also known as theory of reinforcement ?
(A) Operant conditioning theory
(B) Stimulus response theory
(C) Classical conditioning theory
(D) Theory of insight
o 1 @ form g o6 qreior w1 g oft hed & 2
(A)  Framrg s fagr
(B) 3 3rfeRan g EE
(C) v e g Eﬁ

(D) =g fagr

Choose the example that illustrates intrinsic motivation.
(A) Vandana is working hard to score well in exams as she wants a gift from her parents.

(B) Urmila is completing her homework so that she can wateh TV after completing her
homework.

(C) Ila is reading more books so that she can seeure firstyrank in District and her school
get fame at District level.

(D) Megha is exploring various resources for,her project because she loves learning new
things.

frferfiga o & 39 3erewor o1 = Hife S GriafiE sriion i guia g -

(A) =T e T 376 37k UTWd hid oh ToTU hoR Uied o &1 2 f5e@ a8 o1 arar-fuan @
I T L T |

(B) 3ftfet werwhe el Tt ot Wie Fifeh Tehrd T hieh a8 1.t ¢ Teh |

(C) 3T 9gd ORI T&sh e Ry aiteh o8 fTel § T T uTed shish feremer =t T fet
T I UM HCANETE Bl

(D) TET STHISHT sBiheh fore fafir= avd qetmer @ 8 w=ife 98 98 eI I & §
RERtCIR

Who among the,following has not propounded the learning theory ?

(A) Thorndike (B) Skinner
(C) . Kohler (D) B.S. Bloom
=1 o ferem srferm fargr =61 wfaarer =&t fopam 2
(A)._Eiferss (B) f&rm

(C) iR (D) .ud. =™

P.T.O.
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23.

24.
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Repeatedly asking children to engage in learning activities either to avoid punishment or to
gain a reward will

(A) Decrease extrinsic motivation

(B) Increase intrinsic motivation

(C) Would encourage children to focus on mastery rather than performance goals.

(D) Decrease children’s natural interest and curiosity involved in learning.

TR-R =1 I T = AT S I b foTw dige 6t iafafr § g g9 o fefassanan

eI g 7

(A) 3TehT TR SO T HH HAT 2 |

(B) 3ehl JAT=I1eh I < SIGTAT 2 |

(C) =1 ol LT I ! IT1d HERY BT hd o TTd LI hirgd e o [o1T TiedTied
HAT2 |

(D) = <hl Tehfereh & SR Tige | wnirer g4 1 FSiT@i <l shEetar ¢ |

According to RTE Act, 2009 working hours per week for teachers are

(A) 40 hours (B) 442 hours

(C) 45 hours (D) #A8heurs

IR.A 3. rfafrm, 2009 % AR Frewshi'sh forqufa gere wm & fHeifa =@e 8
(A) 40 (B) 42 -

(C) 45%R (D) W48 =2 Eﬁ

Which among the following is'different from the characteristics of a Good test ?
(A) Reliability (B) Validity

(C) Objectivity (D) Aptitude

= o @ =l =1 v TiE i foryarsti @ i 7 ¢

(A)  Tervegfrrar (B) o

(C) =egfred (D)  sHfirera

Which of the following is most important in learner centered curriculum ?

(A) Teacher (B) Child

(C) “Contents (D) Environment
Riearelt spfga urgash ¥ f=feiied # € ®F 999 Tg@qui @ ¢
(A) 3T (B) =

(C) forvarereg (D) JTaTERT
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25.

26.

27.

28.

9 A

A Reflective teacher creates classroom situations for students to
(A) Listening the lecture.

(B) Taking notes from the lecture of the teacher.

(C) Maintaining classroom discipline.

(D) Promoting interaction between students and the teacher.

e Tt fareteh ham—het 1§ Ut uitfedfa Sca=t swtan @ fop o
(A) ATETH G &b |

(B) he-ohe1 T feTeh o AT o AIed of T |

(C) HeA-hel H e § 1R TG |

(D) BT 3R fetes o uredites 31=:foran o1 Wicame firet |

Action research means

(A) A longitude research.

(B) An applied research.

(C) A research initiated to solve an immediate problem.
(D) A research with socio-economic objective.

ToraTcreh ST7EY™ &1 319 7

(A) T 3] UM |

(B) T ST SFTHA |

(C) T MY T8 doohict TG 1 & Tohal P eeh | o0
(D) sl < 35 e o
According to NCF 2005, the role of a teachér hasto be

(A) Permissive (B, Facilitator
(C) Authoritative (D) Dictatorial

NCF 2005 % J{HR, Tk et i siftrent g9 =iz

(A) IAEH (B) gferermeren
(C) 3ferepTia (D) ANTRIE

The purpose of evaluation'is

(A) To label children as slow learner and gifted children.

(B) To identify children who need remedial measures.

(C) To diagneseélearning difficulties and problem areas.

(D) To provide feedback on the extent to which we have been successful in imparting
education for a productive life.

TR 1 Sed BT & ?

(A) Frieh! ag Tarenet 3R ufqumsmedt = o &9 ° 3ifehd & o foru |

(B) SR <l U= i o foTu {8 Iu=rl SuT <t SAavaehd1 2 |

(© ), Hrg sh1 HisTsat 3R TrE &5 1 feH % & faw |

(D) 3% 1 7 TYfS TEH AT &l deh g ScTEIIe Sfar o foTe, farett JeM i § et 1§
g1

P.T.O.
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Match the following Principles of Development with their correct description :

Name of Principle of Development Description of Principle
(1) |Proximodistal trend (a) |Head to Toe Sequence
(2) |Cephalo-caudal trend (b) |Different children develop at different rates
(3) |Inter-individual Differences (¢) |In a single child, the rate of development

can vary from one domain of development to
the other

(4) |Intra-individual Differences (d) |Growth from the Cenfre of bodyatoOutwards

m @ 6 @
@ @ @ b © e

® @ ® © @ s

© © @ O @

® @ O @ @©

Freiferfiae faebrer 2 RigTedi 1 3o &l i & fireT e

T & fagra 1w g w1 avg

(1) |efio—guima fem [(2) |[fow @ Tprom

(2) R — verfinge fean (b) |ffd= =i XA agd g |

(3) |3radaferen fiy=tamd (c) |frtfidier s T T i <X, T & U & <hi 3ruam
TELE 19 81 ehdl1 3 |

(4) | stauafae it o) | vt % g @ S A IR alg

m 2 6 @
A) @ @ @b (©
B @ b © ,
© (© (@ (b))
D @ & @ (©

Developmeént proceeds from to .

(A) General — Specific (B) Complex — Hard
(C) 4 Specifie,— General (D) Simple — Easy
e q 1 AR T2 |

(A)" Em= — fafsrs (B) Sifeet — i

(C) fafsrs —amm= (D) HYTUI- 3TN
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31.

32.

33.

34.

35.

36.

37.

an A

g - 11
HET -1

Bl
T EUE H HA 30 TH R |
¥t ww srfEr B |

fepveTmea fremwr fafor S Heu o S 2

(A) TE T SIS T & |

(B) I 3= Hieafireh T o ferenfeian o forw stferes swmft 2 |
(C) P Heed - 39 faf¥r =i fFfvea w9 wem foan |

(D) TN % AT T Aifged <ht f3renr 3@ farfer & 7t < v wwet? |

sftren frer gorref) & wrwn ki e fr=ferfea o 9 forg meem @ & Sir gedt @ 2

(A) hact ferdmell FTH A | (B) WIS GaIeRoT S
(C) SAIfd-gaeh oraT=a ¥ | (D) TH Y HigTE! |
o g 35 i A e el <6 e g 2% il

(A) 3au foemeff w1 a1 % a1 T TUTE T BT ST FhdT 2 |

(B) 3 foremeff =1 warft wiwrer # <& fopam S That R, |

(C) 9% Jufees freqor W 31feres ot fga STan e

(D) Ig Tareqor yureft 3rferes feemfiiet arefia<t anm & steamom o fou suamft i 2 |

99 § 5 91 ‘i sreree 3urm 1 S 8 2 2
(A) AT HE T ATEH |

(B) 31&9¥H Bq e |

(C) Toenfia gro waneame ue f3reteh g Amiesi= |

(D) SHeATHb TS |

FAIYW TS qAT FHA SR Fui R fergamn IRy ¢ | Ieoifgd a1q fhe &R %
ferenfofar &g L T 7 7

(A) TTfieh T o, (B) 3= WMo T & |
(C) TTEATHE T h | (D) 3= HIEATHh T o |
ATT-hISTell ' SIfTeafe hivred 2 :

(A)  FA TR | (B) ot 3t uen |
(C) e I fore | (D) WeHT 3R e |
eI, fhe T Shivrel T el | 7

(A) AT (B) d9=H

(C) e (D) dred
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TR (Tenle wimr) form TehR <t 31ferms |t 2 2

(A) &deh |t (B) g9 wmmft

(C) oa-%y gt (D) o= gt

TS ST < ST § afiferd &l & :

(A) TS H | (B) 9T e |

(C) Tz e | (D) Tz e |

T e HT R

(A) 3TEIE IR (B) faroan

(C) Sfua et frm (D)  srearTRishar E%
Hgeh Houieh & Tae | ST HU 2 : e

(A) Tifgs qemehd § resaid I9 I8 914 & |

(B) wifaeh geaishrehd 8T, Tesiict 3R fowar fegmsmg anfaw |
(C) Tifae goxe § agfsar a1feres gt =faw 4

(D) Tifaeh geie ¥ forameff o6t sramfireafad o sgatet fiem =ifeu |

“HeTeh IGCTAT <hi ITFCd hi T 1 Fufer i hhmfeha B |7 qoTehd <hl I8 Tt forereht
27

(A) HTgHicTH (B) Ve @ 0|

C) =mH (D) TSN

Terameff <6t e Ta e HieTgal I gUaHd 5T HET A AT e g o
(A) Heu T (B) cAteh freqom

(C) 7T fareqoy (D) 3UERIcH frefor

Haq Td SATIh HeTehH hl GIN & :

(A) 3eH TeremeRll sh1 e Hearieht 2idm a1 2 |

(B) Tererfiiant ot sHfirel o1 Friat 37 St e 2 |

(C) 39 SAfirvTaehi ot feremeff i fax wifa <t SIepil it Tl 2 |
(D) &8 Jonct! ¥t T <At ST Hehell 2 Te ferameff-fyrers Stamd <m & |

Sterfetr whieror < fFmior o fopaw ugh 1 s R STaT 8 v
(A)" @l (B) M
C) T (D) =R
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Fr=forRaa ey & YR W 9T @1 46 T 50 TH o I R

T T A Hed Tiasfiet TwaT & | W g @ R forteft wiivkat S8 st 3R et § | S
AT o1 <l fordia aftfexrforn @ S1ae o6t ootet & @eT el W@ Tehd 371 30 9T o |1 §8 14 &, o
Huft IgETT T T T K TH | 3 FoTT 1 g g1 =te 6 3 Sfifed wd gugc F wHE & | W9
1 SFereRy a1 Tt Bl geredl ® | S safe @ wd aRiRdfa o) wme o 2, 9t e 78 38T wsha
AR Bl < sfter ot 70T TEAT ATt W 8 | SO SRt o 3Heh fordied 3R givd T & ot
T T YT H & | AfR, TS AN T o T et S 319 HHes O 35 81 AT sty
HH H S3d 8, T8 37 wifawa Sfam § arenifa 1 fow ot ST 2 | I 9T % Sigd 1/ 8eew
BT T | Afe TramT his 3¢ &1 &, O 0 Tt 7 B | I UM 77 SRR ST STTI9Ieh
2 | 3ECTIEH AT TorT uqaR ST A9 i TWE § |

46. ‘Hed' Vs 1 @ diy-fo=ae B

(A) #E+Td (B) #al+Ud
(C) "+ (D) @el+Td
47. TAfafga @@ Tow’ e &1 w@iga I @ -
(A) (B) , 3
©) 3\ (D) TR
48. ‘Torieft wreg =1 feretm g0 -
(A) dTEH (B) Tt ot
©) =9 (D) \AAS
49. TV H YIS TG Y6 H I 7 :
(A) T HEI | (B) T 9 EIM |
(C) "I | (D) | ! femm |
50. ‘T WG @
(A) I (B) WTeET=h Bl
(C) faares T3 (D) SAfFdaTee |l

Freferiaa e < STERE 597 ST 51 8 55 Teh o I QT :

39 YU, Y 9L S8 dIeT S 3R 3Heh! FEh{d — 37 I o FieITeld €9 9 TF 1 WET a0
& | yf < HifigeR &9 SR FH(g < Sl F=rd BT gHIT Shded @ | S Uit geeft < wrer &t 7 g,
T8 et Bl @, erelt FraT 1 i@ H S 3rge Pt wi o €, 3 % SR 98 TgUN S § |
AT T FETE B STel TS T 1 GO ST & | 3ok HIOT & el T <hi HI e S 2 |
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

To free the slave, the chains

(A) being removed (B) had been removed
(C) 1isremoved (D) was being removed
The convict by the neck till death, was the verdict.

(A) is to hanged (B) is being hung

(C) isto be hanged (D) isto being hang

‘She said to her son, “What do you like ?”” The indiregt speech of the sentence is
(A) She asked her son to like.

(B) She asked her son what will he like.

(C) She ask her son what he liked.

(D) She asked her son what he liked.

The phonetic sound of the letters underlined indthe word ‘together’ is represented by the
symbol

(A) d B) 6

©) o (D) d3

Which is the correct transéription of ‘question’ ? EaE
(A) 'ku:s Jon (B) 'kwestfon Eﬁ
(C) 'kwu:ln (D) 'kwuschn

‘Learning is made stable and everlasting’ is a merit of

(A) Bilingual Method (B) Structural Approach

(C) Direét Method (D) Communicative Approach

‘Priority of\Reading’ is a principle of
(A) Translation cum Grammar Method
(B, Dr. West’s Method

(C)" Structural Approach

(D) Communicative Approach

P.T.O.
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‘It stops power of thinking freely’ is a demerit of
(A) Bilingual Method

(B) Direct Method

(C) Translation cum Grammar Method

(D) Substitutional Table Method

Bilingual method includes
(A) Translation by teachers only to explain the matter.

(B) Insistence upon reading only.
(C) Insistence upon writing only.
(D) Optimum exposure for discussion.

The receptive skills comprise
(A) Listening and Reading (B) Listening and Speaking
(C) Reading and Writing (D) Reading and Speaking

Writing is more complicated skill because of

(A) its variety of fields. FEm

(B) its last position. Eﬁ

(C) its inclusion of other subjects.

(D) graphic representation and presentation of $tructured thoughts.

Language games help
(A) toimprove speech (B) to build structures
(C) to build vocabulary (D) to learn grammar

Assessment of broad Jlearningdbéhavioural outcomes is a feature of
(A) CCE (B) Peer Evaluation
(C) Formative Assessment (D) Summative Assessment

Which oné¢ is nota characteristic of Peer Evaluation ?
(A) Effective monitoring (B) Metacognition
(C) 4Savesteacher’s time (D) Faster feedback

Cloze Test Evaluation was described by
(A) C.J. Dodson (B) Woods
(C) W.L. Taylor (D) Roberts Paul
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Passage (For Q. Nos. 46 to 52) :

The messenger had no idea what all this was about. If King Avinash meant to attack his
king’s fort then all was lost. For King Bahadur was old and weak. These days he spent most of
his time in prayer. After much thought the messenger decided on a plan. “Sir, I do not know
why are you so angry,” he said. “All I know is that King Bahadur has gone mad. I cannot work
for him anymore. I had decided to the court and work elsewhere. If you will take me inul will

gladly work for you, my lord.”

46. The synonym of ‘attack’ is
(A) war Em (B) dispute
(C) invade Eﬁ (D) conflict

47. The synonym of ‘mad’ is
(A) sick (B) insane

(C) nervous (D) sensible

48. The antonym of ‘angry’ is
(A) sharp (B) “infuriated
(C) calm (D) peace

49. The one word substitution for ‘old and weak’ is
(A) infirm (B) sick
(C) humble (D) polite

50. The correct noun form of*‘deeide’ is
(A) decade (B) decided
(C) decision (D) deceive

51. The correct.verb form of ‘lost’ is
(A) loose (B) lose
(C) Joss (D) lest

52.  Thecorrect spelling is
(A) " patiritism (B) partritism
(C) patriotism (D) potriotism
P.T.O.
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Passage (For Q. Nos. 53 to 59) :

Being free filled me with happiness. Now that my chains had been removed, I could see

the capital city. Everyone was ordered to stay indoors in case I stepped on them and they got

crushed. The first building I saw as I stepped over the city wall was the Emperor’s palace. It was

charming just like a big doll’s house. I had to lie down to look inside and as the Empress came

to the window smiling at me, she gave me her hand to kiss.

53.

54.

55S.

56.

57.

58.

59.

60.

Which part of speech is ‘Happiness’ ?
(A) Adjective (B) Noun
(C) Verb (D) Adverb

‘The Empress came to the window smiling at me.” Here ‘smiling’ is

(A) Noun (B) Verb
(C) Adjective (D) Adverb
(5] 5]
‘Being free filled me with happiness.” The sentence i$'in Eﬁ
(A) Present perfect (B) qPastyperfect
(C) Pastsimple (D) _Presentsimple
‘I had to lie down ...."” The sentence isdn
(A) Pastsimple (B) Present simple
(C) Past perfect (D) “Present perfect
e she gave me her hand to kiss.’ In this sentence the determiner used is
(A) she (B) her
(C) to (D) me

‘It was charming just like,a big doll’s house.’ In this sentence the determiner used is
(A) just (B) like
©) a (D) big

‘Freest’ is'thesSuperlative degree of
(A) fire (B) freer
(C) afirer (D) free

The fasmer fastened the bull tightly to the stake. The correct question for this is
(A) What did the farmer do ? (B) What does the farmer did ?
(C) Why did the farmer did ? (D) Why does the farmer did ?
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SECTION-III
LANGUAGE-II
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

In the lines given below the literary device ‘Metaphor’ is used in
(A) Betty Botter bought some butter.

(B) Ascold as ice.

(C) A host of golden daffodils.

(D) Itis the east, and Juliet, the sun.

A genre of drama based on human suffering and, mainly, th¢ terrible or sorrowful events
that befall main character is known as

(A) Tragedy (B) Comedy

(C) Irony (D) Autobiography

A ‘Fable’ is an example of EmE
(A) Rhyme (B) Short/Story: Eﬁ"
(C) Sonnet (D) #MNoneof these

My father swim very fast when he was yoting.

(A) can (B) may

(C) could (D) must

Choose the alternative which best'‘expresses the meaning of idiom/phrase given below :
“No Pain No Gain”

(A) You have to work forf'what'you want.

(B) Wait for the right time.

(C) Take care,of yourpains.

(D) Do not harmethers.

‘To avoid{talking about what is important’ the idiom/phrase which best expresses the
above meaning is

(A) Hitthe saek (B) Up in arms
(C) "Beat around the bush (D) Sell like hot cakes

Chooseithe correct phonetic transcription for the given word : ‘Thin’
(A) /ti:/ (B) /6m/
(C) Jon/ (D) /dei/
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Which of the following contains the same vowel sound ?
(A) tell —bell —cell (B) know —now — bow
(C) put—-cut—-cute (D) All of these

Find out the word which begins with different sound from other given words :
(A) High (B) Hike
(C) Hire (D) Beat

Choose the correct phonetic transcription for the underlined sound of the word %Call
(A) /knM/ (B) /ko:l/
(©) /kel/ (D) /kaml/

Which statement is not correct about communicative approach 2
(A) Itis practical in use.

(B) It is situational, meaningful and self-rewarding.

(C) It develops the speech ability.

(D) Itis teachers centered approach.

In structural approach the word ‘structure’ relates to, the structure whereas ‘approach’
stands for

(A) Going away (B) #Coming near Eﬁ
(C) Sincere (DY, Intélligent (=l

The teaching which is needed for the students'who are in general backward in studies and
fail in one subject :

(A) Remedial teaching (B) Advance teaching
(C) Classroom teaching (D))" None of these

The process of finding outithe extent to which the desired changes have taken place in the
pupils

(A) On line lectures (B) Evaluation

(C) Co-curricular activities (D) All of these

An importafit part of any evaluation in which the teacher should prepare a record sheet for
each student ifidicating the different skills to be tested is

(A) Reeordkeeping (B) Notice book
(C) “4Class teacher diary (D) Monthly attendance

Which,one is not a type of digital portfolio ?
(A) "Developmental (B) Reflective
(C) Representational (D) Occupational
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Passage (For Q. Nos. 77 — 83)

Non-biodegradable plastic is one of the prime targets of environmentalists across the
world, but, we, too can make a difference — by spurning that plastic bag for cloth, by buying our
aerated water in glass bottles instead of plastic, by demanding glass milk bottles instead of
plastic pouches, by using that sheet of paper on both sides, by recycling vegetable waste/and.tea
leaves as manure. The media can also play an enormously significant role in this respect. It 18
not difficult to make a beginning; it is far more taxing to sustain it. But the payoffs of.spating
just a little thought to where our waste goes, promise to make it worthwhile. Sometimes you see,
waste can kill.

77. One of the prime targets of environmentalists across the world non-biodegradable
plastic.
(A) are (B) is
(C) was (D) were
78. We should carry cloth bag plastic bag.
(A) despite (B) inspite of:
(C) instead of (D) as
79. Common man media can play a signifieant role in this respect.
(A) whereas (B) “but
(C) aswellas (D) though
80. Vegetable waste and tea leaves recycled into manure.
(A) was (B)/" is
: EHE
(C) canbe (D) if
A
81. Small efforts can adbig difference in reducing plastic waste.
(A) get (B) make
(C) made (D) take

82. The most guitable title for the passage is

(A) The urban life (B) Waste and media
(C) . Waste;management (D) Pollutants

83. 1In order to reduce plastic waste, plastic pouches can be by glass milk bottles.
(A) “used (B) replaced

(C) stored (D) none of these
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“Slithery, slidery, scaly old snake.”

The literary device used in the above line is

(A) Simile (B) Metaphor
(C) Alliteration (D) Irony

The literary device present in the line “I am as quick as a cheetah”, is
(A) Satire (B) Alliteration
(C) Hyperbole (D) Simile

“Upon a nice mid-spring day

Let’s take a look at nature’s way
Breathe the scent of nice fresh air

Feel the breeze within your hair.”

The rhyme scheme of the above line is :

(A) AABB (B) ABAB
(C) AABA (D) ABAA
“All the little corn flakes were so excited, EpE
They were getting to come out and play.” Eﬁ

What is personified in the above lines ?
(A) All (B) so exeited
(C) corn flakes (D) All of these

A mournful poem, typicallysa lament for the dead is called
(A) Drama (B) Comedy
(C) Sonnet (D) Elegy

The literary term used for a poem of fourteen lines using any of a number of formal rhyme
schemes is

(A) Shott story (B) Sonnet
(C) Elegy (D) Allusion

“Who knows why the cold wind blows !”

The literary device used in the above line is

(A) “Personification (B) Hyperbole
(C) Assonance (D) None of these
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‘BT TZE YSH AIFHIIET HE 3T 1 TRHIT &7 U=’ I Auas AT J ¢
(A) I (B) w3

(C) 33 (D) T
yIfentt Gua faue it

(A) I&Efedts (B) ug3sfefta

(C) »iufee fedt T (D) wf3-wufes fedft T

Jaret fiftm © qug et At QU 9= 99

Ay, ITHTHT 3 BugTarstHa fHftm =7 gy 5t agaT ordter |
(B)" 3t} fiffapm niformyat v Hags 33 AR T

(C) Mt 3 Qugg3fia fiffm erydu daar e J |
(D) 3AftH 3 Queasfua fifinr S et @z & T |
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74.

75.

76.
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Ja’ TTHEfeI vTE J

(A) BT A f50H3 U TS g5 | (B) Ha=m A f6WHI JU &5 136 |
(C) I5duBT | (D) #I& AT EST |

He @96 <t fermar J

(A) feaefd3 IA-vfis SR Ygs | (B) HI YH-WH I T96 J957 |
(C) <T3-TIATIS IS | (D) €3 st wem TT95 434 |

et mHardt § He dt v &9 faat niem i3, »i9E J[fde J96 <t fqfon™ fam,a<s »fts
WI"@'EP@I:

A) SFtees (B) dfegrarx

(©) 39 (D) WeT9&

‘HEs I’ feg fiftmr 2 8en 0% ¢ FrE
S

(A) fefonradh feg res &t g<t Eia a9aT |
(B) 3" J[fI< II& < WarsT GU& J9aT |

(C) TIITTHEI= & AHSS & War3™ feai3 9067 |
(D) BudazAI

I fifpT 39 FoTfed S=es U T8 AUsT anid! de 9< ¢
(A) BaH, IFE (B) IFE, 939
(C) 932, 5w (D) IHG, 93

g 9397 § 37 94 YEIH3 J96 €8 W3d § ol A< I -

(A) dfscs 893 (B) »nfizretHay
(C) TI3EIB (D) fsGn a3

“Ags fIg IE fefanfigiim € feearg ufgedss € Hey fT9 YT € Hass 3 §aat <t fanfrfim
35 <t Yffni g Haae afde I 17 feg qus fan fesas 27 J -

(A) FEB5 (B) =I5

(C) @itH Teie (D) #Ha St

‘ISl N9’ T Afa3d It 3 famaayded &2 ey - s fan udtfmr erayaT J
(A) Tegu3tia ydifimr (B) =H3fans udtfmr
(C) vgT< ydifip (D) et &t
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(77-81) I fBH U S UF I YAG 693 773 81 32§33 @ :

HIYIHT & ST € 78 Hyt &9 €30 7y fadaft arfent™ & wifep™ I | U9 wirfl »mye wdfla <8
WIS, YS9Ed o3 fo9 #ig I o fed-gd § UE'3s6 "I BJ1 9 IF | =9 & g=a3 o GuF vdy &
Jfae-wAfge War it | HEY & 37 I2I3 § FHfmT &7 A1 § | 9993 &8 838'3 J1 fonad faurdtn
TTHYY J | 293 IHE It efenrers Ifdt 9, 7 By fertH3T YT J9et I | 97T, vt 3T A Afles .
WOg IS | J2I3 &8 HI™ 39 I8t 39 & I waer | wdla <t afos wadt <t & vy IorfaeshfEs
9 It fuet 7 | 9997 =7 A9 feu I fa A8 983 U e 28 28 9T I8, &1 3T JO9Hs »eHET
<9 »irt A 3 ufas It g8t 3 g9 99 AT |

EE
77. G3uI gue o feddt mew 9E Eﬁ
(A) HoH (B) feam
(C) U==d (D) feaw
78. ‘TfeME®’ T HHGIES HI< 9< ¢
(A) dadt (B) fodg
(C) dfda=s (D) 913
79. ‘A3’ HE<E I IOHIEL A IS ¢
(A) W33, Had (B) Wg,3W
(C) w99, fags (D) A3, mime
80. ‘33’ mu= T fEara=s :
(A) wJIH (B) <3
(C) wAT (D) disg

81. ‘I HYE TTHISIS IS :

(A) U9 (B) ==t
(C) T&I" (D) 3IA»T3

(82-85) J& fod Ife-eed ug I YHs 699 82 38537 € B33l : -
A YET 28072 |
ST He.oad A< |
oL 8H 59391 fes g,
T A A A= |
THH H3 UL I35,
YW AHS 72 |
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83.

84.

8s.

86.

87.

88.

89.

90.

(62) PL-1

Ffe-de fag fan g2 dt et Ug I T 2
(A) Syt (B) &3z
(C) =3 (D) =g

Buda3 Frfe-A3at & yHar fe9 fan Pt -YfHar = faag Ifenr 3

(A) dg—g3r (B) 3 —HAE
(C) wHT—Y$ (D) I<t-u39

Ay FEE I IR ?
(A) &3 (B) F=Id
(C) #&3 (D) wfom3

feg arfe-fegm fan afe-gu e fdm I3 :

(A) Tt (B) =9

(C) HdETHT (D) fomr Em
B

Yt s @9 €, o1, &, fad fAd =0 75 ¢

(A) fenims (B) "&=Jar et

(C) fonivs=gd (D) A <9x

‘B’ T96 § TIGHST < T =gar g =fgnr faprm I

(A) T=dar (B) &<I6=ddr

(€) <<gar (D) Hy=ZIar

Jrret T fenraaa <9 faa@arig I8 72

(A) fds (B) %

(€) =w (D) Ut

TIMYTTE . A fFT AT T

(A) Z=widg (B) A< AUA3 »ud

(C) FSNYI (D) TEnig

RT3, ¥3sT, B9, 95937, Hee Uardl & fagdt Qusm a7 Hefu3 76
(A) “yS=Et (B) 3drdt
(C) Wt (D) A
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v — 11
UL IT
deyIdl

AL VSHL §EL 30 UHLE.
€38 UL oy alod AL 5 (oYL €.

61. R, dlS, UG Yl UCEL 5L USIRAL AUUHL LURRL S ¢
(A)  Geur<il (B) 2osdpll
(C) Bau ARl (D) [Bulasmel s

62.  lAAmiall 52 uRoto eun [si WR Al A AR R B ¢

(A) agdil (B) <ldldrul
(C) [deall 2isr01 (D) A0A

63.  AACLL A AH[Gul-l 8. EAE
A) Rienaw (B) Ml Eﬁ
(C) ¥al (D) AlMany

64. elRELT 2l SHL sl Rzl Hi2 56 ugld 450l 251 ¢

(A) dfla-2He vgld (B) ol wsld
(C) qeiugld (DY ugld

65.  <bdlvisHl [QenelRAA icdl@d 524l HI2 541 SlaeuAl BuaL 532l ¢
(A)  Yedlsrulslaey (B)  [asaultrut Sluea
(C)  WHMUARdL Slaied (D) SLML 5laled

66. ¢ U sl “ U3 YEUALBHR” dRTE WL UOTHAHL UL & 9

(A) Rl iUl (B)  clledsRl

(C) dReuaRAL (D) Yol
67. A2l SHRUAA ERL- B0 AU S 9

(A) 5¥eR (B) 2uRSIER

(C) , it (D) gAYR<lS

68." ARl {5 HI2 G UM 9.
(A)" SHHIUES (B) lgdyrds
(C) Gaur e (D) [RReA e



69.

70.

71.

72.

73.

74.

75.

76.
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ALzl AL UlsA YRS Q1L 53 6 ¢

(A) oty 23{A Slg et

(B)  [Azn2llAlAl AHovalsaAl [Asi 52 ddl WgdsH.
(C)  [AzuellRAlA 2481l @Ml HeE3 W Al dd,

~ M NN Eh:m
(D) WEAYRels olls-L 6L RS dd, Eﬁ
([RatslL s34 2101 GlLULsA 2ALEL HIAL otell dRg EIRL MU ¢
(A)  AURUYsAL (B) Adwlizl
(C) ydue (D) Jetdld

ARl 56 g ldAl GuAdL 5L [RBARL 12 SAML A & 2
(A)  suAAAL wsgld (B) MR wgld
(C) v wgld (D) 2ARMA-[FRA Mgld

slSRL URleds sALLAL BRL USRE, WL RRIR §3 dvid @l aldl HOL dl dA 3l 51121 56l
ASA ¢

(A)  U0L5AEL B) Rl sael
(C) [amu-la 12l (D) ile¥eiadl saaigl

Sl USIRAL UHIAL v edlof Ass] Sleliedl (AR UHIEIHAAL 24 WRARAL Ol 28 € 9
(A) 251 GR UsR (B) Rdeail sl
(C)  [Aotacus usll (D)  GuRisd ™

ARl APHA 2AMAGAARAIUIHL S1AL UM AL 421 ¢
(A) [Aoin (B) 2dlcHsul
(C) sl @i (D) -l

LOWHL MAL HNRAL GULE [AeuiellA anld B2ell Rifg el 531 6 d sallddl U@ 2] sdad ¢
(A) MR (B) Rloylall
(C) Pisaa (D) [Rsrfst

LA 2081, g BRRARGL S 25 o HI2 WOUSEURA 58 A¢ 4e41RAS Ui ALY S8 ¢
(A) “ebqcd 2l (B) [Aola @uirt
(C) e (D) 2iddlE
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ARAAL AL AR U3 JAVALTT 2l 79 oelloL AL :

LR LRURL A, A 1A A% Alds s UdA A MU B, GRIRIRA sHOHIL €R s241-L
3R €, ol HIZ UHIY MU Al 3R 6. UEL 24 WHUBLS el HeTed 24U S, HAd-AL o
Rl2cl HONddll 82 UseU 539l MDA, RIRURA A2l HI2 585 SRIELIAL LSAHL AU A DA, 55510
Wt A, GPIRURLA ASILHL 2SR 100 21 dl o Sl ARIAR SRl S22 Ul URARL € Useu
] WAL o 2 oAl

77, ARRURAUL ARAL <l Rl e 6 ¢

(A) RAYASREL AU D, (B) RUwAL [Asie 2w 8.

(C)  RUgrf M AR 6. (D) R, Alds Ul 20 54
78, ‘AUsed’ L A gl sl

(A) A+ 5€U (B) A + s€4

(C) U+ se4 (D) U+ 564

79.  Gur-ALElA AR 53 llMs il usiL

(A) RIUR GRLEL (B)  RIAR UL
(C) GIRIRUR €| (D) WOl Wi
80. UG 5101 A & CUE 77 AU B USR AUAAIH B0
(A)  AUUS UM (B) “Rulet Ad-
(C) AP A (D) &2ls A
81. ‘MUl 2zell 2tuR 2ild ol L. dsHbd™el Al 53 6 9
(A) dMal (B) =uR
(C) =l (D) ondl
82. GWR, I, A%s, g2, AR DR AeE 5l [Buldmel-L & ¢
(A)  RUARS (B) =llaars
(C)  AUHAAURS (D)  HIRYUS
83. ARl suL s oEA Byl ABLEL © 9
(A) sl (B) RIdxl
(C) uresl (D) URIRs
84.  ARAHIALES Usll AASAUAHL o WANU E ?
A)  awwll (B) slelldlel
(C) eI (D) A3l

85.7 elpLHL 526l1s UCELHL LRI UL HE dURIAL Rigr 8 s8R 7
(A) Aeu(dRH (B) 2AddRul Ruert
(C) [ER™ (D) i Ruget
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(66)

A Al 581 69l WL drtl (Lot UL ALSIR AR ALsUHL HAUUAL USIR oLl

(A)  Geurardl 2y (B) 50l MARI 24
(C) AP 2 (D) 2esdb(l 2ty

‘Zlell. Al ol 53 . aAlsel AR s USR 6 9
(A)  [Avael as (B) Ryl s
(C) >ustiel dlsd (D) w3l s

‘dldR” 2osAl g dAorRicdl 242 Al sl 6 ¢
(A) Rl (B) sl
(C) AR (D) AR

A2 AL MU AR WA AL 89 2L 90 ell-l G<ir @l :
69 HNLL A 89R HOELL,
A& HidiAL sl ¢
UAAS A LRAL HNL,
AL Hidil sul ¢
2l HOEL, ASLHOEL,
e HiAL sl 9 .
26, AR A dRLHO, Eﬁ
AL AL sl ¢
AR, dlel A Wld HOQL,
2§51 AL L ¢
OlIR GlH2 e, dal
Sell Hibsul ¢

HlllAl 2§51 WA Sl 11 2] ¢
(A) ¥R, dicRbdila-l (B) 15 ¢ ¢lu-l
(C) el 2 WAL (D) Uls 24 YRyl

GUR G2, Sarl Sell HiAdl SuL ¢ dlsUHL S 2U0E SULUSRALS ¢
(A) e (B) d&6id
(C) 2Roil (D) sR:l
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91.

92.

93.

(67)

SECTION-1V / @Ug -1V

MATHEMATICS /Tford

There are 30 questions in all in this section.
All questions are compulsory.
3 @UE 1§ el 30 T 2 |
aeft o SafEr € |

Which of the following is the correct Prime factors of number 420 ?

(A) 2x2x7x15 (B) 2x2x5x21
(C) 2x6x5x%x7 (D) 2x2x3x5x7
frefafaa & @ i |1 5@ 420 H1 TE 319 UHEUE § 7

=
(A) 2x2x7x15 (B) 2x2x5x21 Eﬁ
(C) 2x6x5x%x7 (D) 2x2x3x5x7

LCM of any two numbers is 60 and HCF of them'is 5. Which of the following are those
numbers ?

(A) 20,30 (B) 10, 30

(C) 15,20 (D) 15,40

foregl €1 T3t %1 gAY aEEEacl 60 8 Td Hgad J9I9eds 5 8, a MEfiad § | 98
HeTd i @ g 2

(A) 20,30 (B) 10,30

(C) 15,20 (D) 15,40

If a Consequent of ratio 5 : 7 is 35, then what will be Antecedent ?
(A) 25 (B) 36

(C) @5 (D) 49

Ife Teh SFUTT 5 ;7 1 WUG 35 7, 1 IHbT YuG 1 BT ?

(A)" 25 (B) 36

(C) 45 (D) 49
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4 men can complete a work in 20 days, then 10 men will complete the same work in how

many days ?
(A) 2 days (B) 8 days
(C) 12days (D) 50 days

4 3TTeH} T S 1 20 T H 90 L &, a 10 TTeHT &t 1 i feha T & g1 i1 ?
(A) 2fe (B) 8fe

) 12f= (D) 50fe

On selling an article for ¥ 329, a dealer lost 6%. The costprice of the article is
(A) 31037 (B) 34874
(C) 335 (D) &350

% 329 ¥ Ueh o 1 = T Teh ST b1 6%(#h! BTAES, 1 & 1 553 Tod T @ 7

(A) 31037 (B) ¥ 348.74 EriE

R

(€) 335 (D)% 350

Average of three numbersyis 40. If average of two of them is 38, find the third number.
(A) 38 (B) 40
© 42 (D) 44

T FEAT3HIEhT STEd 40 7 | Afe T4 | < FEAIST 1 37T 38 @, 1 et T gt

(An38 (B) 40

(©) 42 (D) 44
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97.

98.

99.

(69) A

What will be the amount received on ¥ 3,000 for 2 years given at the simple rate of

interest 11% per annum ?
(A) 2340 (B) 3,660
(C) 4,320 (D) 3,330

% 3,000 T 2 I8 o TIU 11% ht it wremor st < @ fopat emwfsr urg geft (7

EHE
A) %2,340 B) 3,660
(A) (B) Eﬁ

(C) T4320 (D) 3,330

The difference of simple interest for 2 years and 3 year§ on a sum of ¥ 2,100 at 8% per

annum is
(A) %336 (B) %168
(C) 1,680 (D) & 504

32,100 GO T 8% STk hl T ¥ 2 TR 3 g < ST ST hT 1= BT —

(A) 336 (B) 168

(C) T 1,680 D) T 504

A bicycle is purchaséd for I 1,800 and is sold at a profit of 12%. Its selling price is
(A) 1,584 (B) 2,016

(C) 1,788 (D) % 1,812

Teh Grgieheni. 1,800 T GEEHT 12% M TSIt T8 a1 IHehT forshd Jod & —

(A)nZ 1,584 (B) 2,016

(C) T1,788 (D) 1,812
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100. In the given figure, the value of a is

(A) 5° ' % (B) 10°
(C) 20° \ (D) 50°
101. If I m2= \e value of x is
(A) 100(%’ (B) 1000
(C) Q (D) 1000000
= x 1 firefifien _&ﬁ?ﬂ % al x T A %

ooo (B) 1000
(C) 100000 (D) 1000000
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102.

103.

@y

15 m? is the area of

(A) A square having side 15 m

(B) 3 squares having side 5 m each
(C) 5 squares having side 3 m each

(D) 15 squares having side 1 m each
15 ot et &

(A) T Tt fEeht e 15 HieX 2 |

(B) 3 &t frEehl yeeh <l =TT 5 Mt ® |
(C) 5ot feeh! ek T 9ol1 3 Hiet 2 |
(D) 15 3 foreH g i et 1 et ® |

Find the volume of the given figure.

3y

2y

(A) 6y B) oy’
(C) 22y (D) 9y
@ TS HTHT ] I FIAHINT |

3y

(A) w6y (B) 6y’

(C) 22y? (D) 9y?
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104. “Music is a modern secret exercise of the subconscious mind of a human being related to

105.

the numbers of arithmetic.” This statement is related to which value of mathematics ?

(A) Intellectual value (B) Cultural value

(C) Artistic value (D) Social value

“GTid TG o ST T 1 SehTUTd <hl TEITSTT & Traf-2rd Teh MMk T A™H & P&
Y TOTT o fohd Yo & FHaIf-ord & 2

(A) g Tea (B) TTEhfcrh et
(C) hATcHS oI (D) M oo
RICE is a rhombus. Find the perimeter of the rhombus @according” to the given
measurement.
C
12
E 5 x+2 I
X[ty
R
[meE
(A) 20 (B) 28 Eﬁ
© 52 (D)4 68
RICE Us §9=q4S & | 3T HICT 7T AT h YR T FHAGHS 1 THHTT 14 HIT |
C
12
E 5 x+2 I
X[ty
R
(A) 20 (B) 28

©) 52 (D) 68
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106.

107.

(73)

“Mathematics is a mirror of civilization and culture.” Who gave this statement ?
(A) Locke (B) Galileo
(C) Hogben (D) Roger Bacon

“TTfOTd | T TR 1 U 2 |7 I8 HeH fopem fezm 2
(A) (B) efiferat

(C) ®ied (D) TSR e

Which method is based on the principle of “To observe and learn” ?
(A) Inductive method
(B) Programmed Instruction method
(C) Laboratory method -
s

“frrdieror &1 S HilE, o faer/M i & fafy s g 2

(D) None of these

(A) 3mT fofe
(B) Afirshitrg 31ee fafyr
(Q) vAwrTeT fafy

(D) S7H & IE T
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Which system is not applicable for mathematics teaching through playway at primary

level ?
(A) Montessori (B) Kindergarten
(C) Dalton (D) Lecture

ITerfireh T W WeT-Ee § TUTd fireqor S o foTu shie ot sraren o] 98 gt & e
(A) wiewd (B) fheumea

(C) Sleed (D) =g

The purpose of diagnostic testing is

(A) To find out the efficiency of the teacher.

(B) Developing different skills of children.

(C) To improve teaching and learning process in mathematics subject.

(D) To examine the suitability of'teéaching methods.

frerTere wieTT sl 35 & — =

i

(A) Treres T HRIHICTAT T IdT AT |
(B) STcTai % 1o~ hiSTetl oh1 ferehTe ST |
(C) T o shi 37 U e Ufshan § U T |

(D) Tereqor farferrt sht IugerIaT <ht SiTE AT |
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110. The best appropriate method for teaching the area of a circle is
(A) Inductive method
(B) Deductive method
(C) Lecture method

(D) Laboratory method

I T FTAHA TH ! TeH TR (a1 8 —
(A) AT fafy
(B) o= fafe i
e
(C) == fafy

(D) ST fafer

111. Slide rule is used in Mathematics for
(A) Multiplication and division
(B) Angle measurement
(C) Make the shape smaller and larger

(D) Measurement of angle of elevation

TTfT H TATSE BT ST Bl 8
(A) TV IS % fo1g

(B) . &hIUT §IU o foTq

(€) ), 3TTId I BT d TSI A & foTT

(D) 314 I ATY & fetw
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Which of the following statement is not related to nature of Mathematics ?
(A) Abstract elements are explained in Mathematics.

(B) Area of generalization is limited in Mathematics.

(C) Mathematics is a universal subject.

(D) Number, places, measurement etc. are the basis of Mathematics.

et @ 1 @1 e i <Y Tl & grafRd TE R 7
(A) T & 37 Tt ht ST <l I R |

(B) TIOTA § WA 1 & FHifoa 2 |

C) T Ueh @reiies faw R | [
(©) Th 2 Eﬁ

yoT

(D) T, T, HIYH Sc1fe T o TR E |

The word ‘Curriculum’ is taken from which language ?

(A) German (B) 4 Latin

(C) Arabic (D) ‘None of'these
weg “THiigpem” forw T & forn R R 7

(A) S (B) , &fea

(€) 3wt (D) T & % T

Making tables in Mathematics comes under which specific objective ?

(A) Skill (B) Application
(C) Understanding (D) Knowledge
TiOTH FROMGTT fohe fersiy 38931 o 3tia 1T 8 2
(A) )it (B) ST

(C) = (D) M
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115.

116.

117.

(77 A
Which is the correct numeric form of “Ten lacs twenty thousand three hundred five” ?
(A) 1020305 (B) 1200305
(C) 10200305 (D) 12200305
‘el T S19 &SI <A | uter’ ol Gl 3ifereh w9 8

o)
A) 1020305 B) 1200305
(A) (B) Eﬁ

(C) 10200305 (D) 12200305

Make a greatest and smallest number by using digits 2, 5, 7 and 8. Thén find difference of

both the numbers. Then from which of the following numbér this différence is not divisible ?
(A) 2 B) 3

© 5 D) 9

316 2, 5, 7 3T 8 T ITANT HLd T AGH o1 TGRS T&T §18d | 376 3 g1 aenaii
T 3T 1A T | ST o6 77 3= sl gfehe v @ fownfora 7 g 2 2

A) 2 (B) 3

© 3 @)y 9

In which of the following alternative 500 is not the place value of 5 ?
(A) 2569 (B) 6529
(©) 9256 (D) 9562

e @ s fowe 1 S T SIHF HE S00 T8 & 7

(A) 2569 (B) 6529

(C) 9256 (D) 9562
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118. Which of the following is the correct descending order of fraction ?

119.

120.

(D)

(78)

How many Prime Numbers lie between 1 to 30 ?

(A)

©)

8

10

(B)
(D)

9

11

1 9 30  s1= ferat 319" g&AT¢ Al ?

(A)

©)

Which of the following ratiod$ greatest ?

8

10

(B)
(D)

) 1 ®)
© 3 (D)
o © B U ge W R 7

@, 1 (B)
© % (D)

9

11

PL-1
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121.

122.

123.

79
SECTION-V /@Usg -V

ENVIRONMENTAL STUDIES / SIS0l 31833

There are 30 questions in all in this section.

All questions are compulsory.
TGS T HA 30 TH B |
¥t T ATER € |

Which Lok Devta in Rajasthan is related to obsecration of Lachha Gujri, ?

(A) Gogaji (B) Ramdevji

(C) Pabuji (D) Tejaji

TSTET § D 8 Aleh ¢adT ol T ATST oI <hl M AF 7
S

(A) Tt (B) TmHessit T

(C) TSt (D) ST

Choose the right group for means of transpdrt by roadways :

(A) Jeep, Scooter, Boat (B) Cycle; Car, Jet

(C) Bus, Truck, e-rickshaw (D) Bullock-cart, Camel-cart, Flying car
TS T ATAATA o FTUAT o Gl HHg I -

(A) S, Tper, A= (B) r3fehet, SR, S

(C) wE, 7k, 3T (D) SemEl, S, T HR

Which disease results into low platelet count in the blood ?

(A) Chicken pox (B) Diabetes

(C) (Amoebiasis (D) Dengue

ToRe TT'eh, ST T H Wiceicd <hi T A &l 11 3§ 7
(A). Teep diaE (B) HYHE

(C) T (D) S
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124. Which of the following is known as ‘Manchester’ of Rajasthan ?
(A) Jaipur (B) Bhilwara
(C) Nagaur (D) Beawar

fr=ferfiaa # @ forgen! T 1 BT HEI IR ?

(A) SR (B) ¥ficrarst

(C) AWK (D) R

125. Where Sonar fort is situated ?

(A) Jaisalmer (B) Jaipur
(C) Bharatpur (D) Rajsamand
| gl el T @ 2

8 3 5]
(A) SR (B) WIT Eﬁ
(C) HWEAL (D) TS

126. For which commanity of Rajasthan conservation of forest and wildlife has become a part of

their religious tenet ?
(A) Gurjar (B) Sahariya
(C) Bishnois (D) Meena

TSR o Bl & SR % foTT 97 Td F=IsToft TRET0r 3o HTfiieh STET T M &7 AT 8 7
(A) s (B) wefen

(C) fewg (D) Hom
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127.

128.

(81) A

The name of an age-old concept of water harvesting in Himachal Pradesh is —

(A) Surangams (B) Kattas
(C) Kulhs (D) Eris
Tewmerer weT | STt THEUT Shi YU Hehou T 3T 714 & -
(A) g™ (B) e

©) F% (D) ™

Select Jayanti from the following, which is celebratedson the 13 day of the rising moon of

Chaitra.
(A) Mahaveer Jayanti
(B) Gandhi Jayanti
EeE
(C) Ambedkar Jayanti Eﬁ"

(D) Hanuman Jayanti

fafafea & @ =g g g, St == e 6 3ot get 6l O & T 7T e R |
(A) HETER SRl

(B) T ST

(C) “STgHOTAA

(D) &A™ STt
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129. When was Namami Gange Project launched ?

(A) 2011 (B) 2012

(C) 2013 (D) 2014
THTH T ST 1 WRY e feham TR T ? :Q

(A) 2011 (B) 2012 Y 4

(C) 2013 (D) 2014 O

130. Crocodile belongs to which class of Animal Kingdom ? @
(A) Aves (B) Reptilia Q

(C) Amphibia (D) Pisce 0

HIH=S, IT0ft ST o fopd Harf s 8 2

(5  [®]
() el (B) s

(C) STTRIeT=R (D) "=

131. Suncity is the nag\':
(A) Jaipur (B) Jaisalmer
(C) Ba (D) Jodhpur

g7

4 (B) SR

(C) el (D) SR



PL-1

(83)

132. Match the following and choose the correct option :

Hormone

(i)  Growth hormone

(i) Insulin

(iii) Testosterone

(iv) Progesterone

(1)
(A) (©
® @
© )
(D) (@

(i)
(2)
(b)
(d)
(©)

(a)
(b)
(©)
(d)
(iii)
(d)
(©)
(a)
(b)

Function

Regulation of sexual characteristics in male
Stimulates growth in organs
Regulation of sexual characteristics in female
Regulation of blood sugar level

(iv)

(b)

(d)

EmE
(©) choeg

(2)

frferfaa i gafad ot qu1 98 foehed Hr = -

LIS
(i) Fre T
(ii) ¥l
(iii) TR
(iv) TSIl

(1) (ii)
A) (o) (@)
(B) (a) (b)
O () (d)
D) (d (c)

%

T H ik @Eon 1 e
37 ® Jfig Ifa e
1T H AT AU Bl e
T | IR TR T A
(iii) (iv)

(d) (b)

(c) (d)

(a) (c)

(b) (a)
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133. When is special discount provided on the price of the clothes made up of Khadi ?
(A) 26 January (B) 2 October
(C) 21 June (D) 5 September
AT 3 T e R e e T R 7
(A) 26 =l (B) 2 IR

(©) 2154 (D) 5 Ty

134. What is the main reason for the difficulty in breathing while mountaineering ?

(A) Steep slopes (B) Extreme cold Weather

(C) Low air pressure (D) Icy winid

TARIEYT o S |1H o H hieTS T HT HHT & =

(A) I EdH (B) 3Tcaleeh 31 Hiew

(C) A ICE (D)4 Thict g %%

135. Which of the following €¢eme under the abiotic component of the environment ?
(A) Plant (B) Air
(C) Animal (D) Bacteria
frfeiiad Hg i qaTeRuT o STt B2 o 3T 37d & ?

(A)" HicT (B) 9

(C) ¥4 (D) Sfamy
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136.

137.

138.

(G

Which of the following is the food of Silkworm ?

(A) Mulberry leaves (B) Jamun leaves
(C) Neem leaves (D) Mango leaves
forferfad 3 & e 1 Wi B AR 7

(A) Y& I afert (B) S 1wl
(C) fim i wferart (D) 31 i afat

Which alkaloid is found in the tobacco ?
(A) Cocaine (B) Caffeine

(C) Nicotine (D) Morphine

TEETE T M T Ueeholise TTIT SITAT & 2
(5  [®]
(A) ik (B) SHHH Eﬁ

(C) Tepifed (D) , AT6H

Rabies disease is caused by

(A) Virus (B) Protozoa
(C) Bactria (D) Mycoplasma
Tl {1 HhEBI a1l B

(A) narRE (B) e

(C) St (D) UTSHITATSHT
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139. Which of the following is not a human source of water pollution ?

(A) Domestic effluent

(B) Sewage

(C) Industrial effluent

(D) Humus matter

frerferRaa & 1 |1 Ster sgwor b wee Ea T # 7
(A) W afewma
(B) dfedsial

o

(D) wE verd

140. Example of fibre Whlcl\®ed from animal.

(A) Cotton (B) Polyester

(©) Nylon\ (D) Silk
é Q (B) UifeTueet

C) EIRIC] (D) WM
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141. What is the main object (aim) of evaluation ?
(A) Maintain discipline
(B) Conduct examination

(C) Question paper setting §
LN

(D) Learner’s performance and improvement

AT 1 & 3e¥d T8 7

= &
@) i Q,

(C) 99 ST

(D) SAfPTHeRal hl IUCT ey Td FHR AT

(5] 5]
&/ A
142. Example of Rabi crop is

(A) Maize \ (B) Soyabean

(C) Groundnu (D) Flax

it d

(B) wRTEH

'&
QC) el (D) T
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143. Which element is not present in child centered education ?

(A) Play (B) Inactivity

(C) Inspiration (D) Satisfaction

ST shivgd e # <hie |1 el el BT @ ?

(A) @« B) ffspea EE
e

(C) o (D) &A™

144. In ancient times messages were communicated by which meditim ?
(A) Fax (B) Mobile
(C) Messengers (D) Telephone
ITEfeRTel H TN ol T=R I & HIET QAT 91 7
(A) T (B) W&

(C) TR (D) Jefi®m

145. An example of Audio=VisualTeaching Learning Aid is
(A) Radio (B) Tape-Recorder
(C) Bullétin Beard (D) Television
o e Retur-srferm |l 1 SeE B

(A), s (B) 2U-TwhreR

(C) Tl e (D) <efifasm
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146. How will you be related to your father’s brother-in-law’s mother ?
(A) Mami (B) Nani
(C) Mausi (D) Sister

3Tk TOraTST < |Tet <hl | & 3TT9eRT @1 e g ¢

(A) (B)

(€) (D) =& (b'
EE Q
147. Fuldol fair is held at Eﬁ 0
(A) Ajmer b
(B) Jaisalmer %
(C) Shahpura i

(D) Alwar
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148. Which of the following is the nearest planet to the Sun ?

(A) Jupiter (B) Earth
(C) Mercury (D) Mars
freferfaa o & o a1 g3 o Fepean 12 8 7
(A) et (B) T
(©) 3 (D) W
. . .- [ 5 =]
149. Foll ffi d -
ollowing traffic sign indicates Eﬁ

iz

(A) Cross-road (B) Pedestrian cfossing

(C) Railway crossing (D) Narrow bridge
= feam e AT Hehd ST AT & —

iz

(A) <RT&ET (B)/ Yeet UR 4
(C) 1T ShIteT (D) TRt gfcra

150. Our National Calendar is

(A) Jana-gana-mana (B) Vande Mataram
(C) Shivira'Calendar (D) National Saka
TR S T & -

(A), ST (B) ¢ HIdH,

(C) rfer T (D) TS 7
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INSTRUCTIONS / fdar
(Read carefully and comply / &9 & 9§ 3R qrelq &%)
IMPORTANT / He@qut

In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-1 in the
Online Application Form.
Gug I1 (WO 1) | ST HI9T & U 1 T A1 arferandt @ 5@ i o1 =@q sregedf 3 9w [ % 9 § siora smaed-ua § A, |
In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as lianguage-Ilin
the Online Apphcatlon Form The Lan uage- H w1ll be different from Language-1.
gug 111 (Wrwr-11) § a% 5@ 9 &1 =EA s ¥ WIE-1 % ' # A sdea=u o ¢ |
ATST-11 ATET-1 & ﬁm gﬁTﬁ [
The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place
in the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklét Series Code and Shift No.,
g‘g;%uestlon Booklet Number.

7 OMR aﬁzﬁﬁaﬁamwuw%@m%ﬁﬁaaﬁg@ﬁm% TR AT B | AR HOMR e T AT
- AR UR T Ao I -GRIHT ERIN IS & % MR R fwar smmm |

10.

11.

Read complete instructions carefully and fill the details from SI. No. 1 to 7 in the OMR Answer Sheet afid S1. No."l to 4'in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising
durl#g a%c%nng ?ﬁf your OM%Aal‘]lﬁs_{wer Sheetﬁ OMR st 3 ( »a s | 7f e
Q q'_'lclf_’i$ hHTSR 1 § 7 d5 AMC T hHATS | 4T‘|—°F‘137‘T3\F|$ 5;]5533 | AT Tead
%wﬁmmmm%aﬁOMRaﬁzaﬁﬁﬁn%Wgﬁa@w&w@% ITRGETEN |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet only then the candidates will
open the Question Booklet seals. Check whether the Booklet contains 150 questions starting from/Page No. 3 to 90. The Shift Number
required in QMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
srs‘rr—gh?——mﬁ%ngalsom‘—r | aEmet EY {8 I % SU ©f_WeA - giedet gidfead &2 & b wgg-gftae
T 150 99 B W1 o UY GEAT 3 | UEW BIRR 90 OF € | STHIK sﬁzwﬁmwawﬁaﬁaﬁ%& AT % FTER Al HAT
%@ﬁua?—g%m%mmmﬁaﬁm%mgm% |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark.
There will be no negative marking for wrong answers,
a‘sﬁsrsaa'g&mrﬁnm%% | Tk WS T U Terehed €1 @1 € | Wcieh Mg o fesd Trrerti ies Gob e 1T Stamer o Tl smorteres s et fed sy |
All questions other than language questions of Sections II and III shall be bilingual.
TE-U & AN G G0 11 TF 111 & W1 & AT Ow auft goehs wet fewra g
In any event of any mistake in any question/s, candidates will not be penalized. However/no corrections will be made in question/s during
the exammatlon
Torelt S 7 Toret 7fe o fordt wiemefl 1 foreft YrR o1 TohaT e ST | RIS 6T Stafer 3 et foreft TR o1 | e e S |
Rough work, if any, may be done in the Question Booklet only4n the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be prov1ded
TR % TF F4 o WEA-TEAR] o 1= H SR <1 T ¢ | 0 e -FEqent aghmrs. | et wenr whn srfofer s Suesy €t sharan st |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instru-
menté;t%:' is not allowed., Their use will resul%l_;l_{ digqualifications fott y .
3’3@@%3? WSS &G TR 2T?FI3§>|5“3|";:I?TT mwws@%ﬁ T JIHTIT Eal
HHH%IE%WW@&T%WWWWW%W o
OMR Answer Sheet will be provided along with Question Booklet separately.
OMR sfie 9sA-gfeast & arer afaikad wqe 6t s |
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in
OMR Answer Sheet. The Question Booklet sealishall be opened 5 minutes before the start of examination and the candidate must fill 1 to
4 entries correctly on the Question Booklet. After,opening the Question Booklet, ensure that any page / question is not missing / not
printed / torn / repeated. In case, you find ady defechanywlhiere in the Question Booklet, immediately inform the Invigilator and get it
replaced within 5 minutes by the Invigilator. Warning Bell will ring at 5 minutes before closer of examination and the last long bell will
ring at closer of examination.

FAT AT W -G RART T @ﬁ%loﬁﬂzqﬁ?ﬁaﬁ?ﬁ|arWﬁmawm%0MRaﬁzﬁaﬁuﬁ%aﬁaﬁaﬁwﬁﬁl
TA-YRaT hT W THET AR F 5 Giet) 7T S §ET 1 ¥ 4 HT el THR & W | F-ETR Gied & 9=
RN

£l I;rﬁﬁ?ﬁ
Rt ekt ag giiTa F e Wﬁa‘%mq@%/ﬁémﬂ m@%/mwaﬁ:@% FIER )
g—sw%laﬁqw GELPCIS aﬁégﬁuﬁaﬁ 2 1 aohrd W amsﬁﬂz%%ﬁﬁ'{ Mﬁm——ﬁqwg%g
IERICE e amf% @+ 5 T SR Ud Sfeaw st Hel URIe weted

erte your Name, Exam Center Code, Slgnature Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet
Number in the space provided in the Questlon Booklet as well as in the OMR Answer Sheet
W - Qe gOMR Sffe, o et T W T, WiET % B e, TSR, AW, W9 -JedR €1 S, free s v we gieqs
SHHTH I{ha |
With each question you will find4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is'correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet
correspondmg to thesquestion. For marking answers use blue/black ballpoint pen only. Gel pens/pencils are not allowed.

T % IR dAeh I X A, B,CADH m}$| TS ST Te. 9 Hel IR I 997 I I Ik B OMR 2ffe  Friard A 71
& THE I T T A BRI FE | SR T G h 15 =1 AT HIS 7 @122 U BT & TTAW HE | S5 U T AR T 9GART i @ |

Correct Method : Wrong Method :
CORRECT / ®&t g WRONG / TTetet WRONG /e WRONG /e WRONG / T
Tl IR T

OOOCe| ™ ROOO||loQ00||00O0O||Ce0 @

OMR Answer Sheetiis designed for computer evaluation. If you do not follow the instructions given above and at the backside of the
OMR Answer,Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of
the candidate only.

OMR &Iz 1 FFeR R AT & fordt arman 1 © | Af 379 v va OMRsﬁz%ﬁ@%wWﬁﬁnﬁﬁ?aﬁ?ﬂWH—gﬁaﬂ% N FTR
BRI ATIhT HEHTHA hiS T T | 36 HRO & GOl Bl g a0 JoHaT ol [SHgRT Sadh! @d & e |

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having
perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the
Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator
before leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not

allowed to be taken by the candidate.
et sifam et ae Qﬁm$ﬂﬁwﬁmﬂaﬂﬂlOMR$ﬁEW&H 3@’%&1 I AT TE WHRYA

%mgm%|awaﬁwamﬁﬁq§?waﬁaﬁﬁﬁ(a§%ﬁ)ﬁﬂy @W?ﬁ??ﬂﬁﬁ%ﬂ"ﬂﬁ uﬁaﬁﬁégﬁ |
TeT-HeT Bied & 4 dwdf OMR $T 7et Ui vd we-gfeasr diees o €9 g | sl Hae st O wf B 1o AT o S ah |
TeT-gfeae srwadff s wrw o o |






